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WEST BENGAL STATE UNIVERSITY
B.Sc. Honours/Programme 2nd Semester Examination, 2022
ANTHGEC02T/ANTGCORO02T-ANTHROPOLOGY (GE2/DSC2)
NEW AND OLD SYLLABUS
Time Allotted: 2 Hours Full Marks: 40
The figures in the margin indicate full marks. eifew 317 77 7o e I e e
Candidates should answer in their own words AT [T CINT I TS AFHNT &y
and adhere to the word limit as practicable. T FRE !
NEW SYLLABUS
L. Answer any two questions from the following: (800-1000 words) 10x2 =20
RS -G }ﬂ% eraT Ted wies (roo-y000 )
(a) What is dating? Briefly discuss about C;4 and Stratigraphy. Define Proto-history.  2+3+3+2
(Bft} ST 9 Cyq 8 FbelRr o1 P SCeval Tl RNCB-Rf%a et wre )
(b) Define Primate. Write down the morphological features of Orang-utan. What are 2+4+4
the basic differences between Platyrrhine and Catarrhine monkeys?
AR Fl ¢ GAR-GITR wpeREl~e @RiEel @ enfon g FEAT AN
WY o AL FF o
(¢) Define family. Describe the different types of family. Describe the functions of 2+5+3
family.
iRt ket wie | [fST @ sifies w1 mie 1 #ifiem T T @
(d) What is primitive economy? Discuss the different types of economy with proper 2+6+2
examples.
wife LIS TE 0 9 FoT Trrgaen WENfoR eFReRE SiEsT T @
2. Answer any two questions from the following: (200-400 words) 5x2=10
TR @I {17% 2089 Teg wias (R00-800 *%)
(a) Write in short the skeletal comparison of Anthropoid ape with that of man 2% +2%
regarding skull and vertebral column.
FRIT @ Freat / (s TR MR T IS e wKFre gemers
DA |
(b) Briefly discuss about exploration and excavation. ) % +2%
G G GFFCSH T TR SO |
(c) What is Kinship? Write in short the functions of kinship. 1+4
SIETST 00 F QIR 2 AR & FH{0F HCFC?! SIS
(d) Detine Dowry and Bride price. What is incest taboo? 3+32

IV @ FATITT FHewR! Wk | Barsen Bnid 9 9
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3. Answer any five questions from the following: (25-30 words) Ix5=35
fsfeiRe @-wieat #f5f5 elvem Tea mies (3¢-vo %)
(a) Define Archaeological Anthropology.
SRreies J-Reitr el wie )
(b) Define Pastoralism.
ARl fETe-a3 ! wie )
(c) What is tool?
S F 9
(d) Who are anthropoid apes?
SRS @ FI 9
(e) What is the scientific name of chimpanzee?
i Tt w1 e
(f) What is Diastema?
TN F 9
(g) What is restricted sororate?
Fifste =nferm 74 F 9
(h) What is nuclear family?
e AR
(1) What is ‘Couvade’?
FCST F 2
(j) What is Teknonymy?
CGRCAR T 9

4. Complete the following sentences: Ix5=5
e areefer e Tl
(a) Which bone is called ‘shin bone’?
(1) Tibia (i1) Fibula (111) Humerus (1v) Ulna
(b) Neolithic tool is
(1) Harpoon (i) Hand ape
(111) Ringstone (iv) None of these
(c) Agriculture was discovered in
(i) Paleolithic age (i) Iron age
(i11) Mesolithic age (iv) Neolithic age
(d) ‘Medical Anthropology’ is a branch of
(1) Action Anthropology (1) Social Anthropology
(111) Archaeological Anthropology (iv) Biological Anthropology

(e) ‘Linea aspera’ found in
(N Ramre (i Tilia (13 TTlian (ixY Bilaala
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OLD SYLLABUS

1. Answer any fwo questions from the following: (800-1000 words) 10x2 =20
e @-Ge {fﬁf‘ 2T Ted wies (t00->000 *R)

(a) Define Archaeological Anthropology. What are the different cultural stages in 2+8
Prehistory and Proto history?

Aoies F-Reicr el nie | 2f2fF ¢ @ihiiEfza Rion Akglios fasfa § Fi e

(b) Define Biological Anthropology. Write the names and position of bones of lower 2+2+6
extremities of human skeleton along with their important changes due to
assumption of erect posture and bipedal locomotion.

talie 7-Reltr el 7s| W7 IFER FHeeied sRelen ar sgeten €
%% oA &) OItRd Sradcdlay Aifiaeaef @t

(c) Define family. Discuss the types of family with suitable examples. 3+7
AR F 2 Ko e sRe 5o SraiggeR Sicsto=t S|
(d) Briefly discuss about human morphology. Discuss the evolutionary significance 3+7

of human external morphological features.

NIRRT AN S1o =0 TR SNCEo S| NHA0ced ey s
Ryelem Resase Sieer! /i @

2. Answer any fwo questions from the following: (200-400 words) 5x2 =10
RS @-CFIC ?fl% 2T TE WSS (R00-800 *)
(a) Write the name of any one typology and its technological features of Lower 1+4

Palaeolithic Period.

o erwerss Joo @-(FICAl @36 Sy @19 @ Wi @i (aME) @il |

(b) Give a brief'account of different types of human teeth and their structure. 9
fifon «@ea Nimawesd #Rivasg 9fow @l

(c) What is Kinship? Discuss its functions.

WITST IET00 F @I 2 32 I o FCRL |
(d) What is Linea aspera? Write the importance of Linea aspera. 1+4
ferferat spiaicofat 1 9 foifer SHFCoRIT @wg SCEd- FC

+24

b

3. Answer any five questions from the following: (25-30 words) Ix5=35
e @-Ia #5fo @t Ted s (Re-vo *¥)
(a) What do you mean by ‘Neolithic’?
‘fefeiis ee F @I ¢
(b) What is femur?
[RRIEEE

(¢) How many bones are found in human skull?

T FEIGCe F6 =IfE =R 2
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4.

(d) Write the dental formula of human.
NIHRCACRA (T01e Tett el

(e) What do you mean by Social Institution?

e 2fSDi To10e F @I 9
(f) What is smallest social unit?
W AN @3 F 9
(g) Define Tribe.
TGS I6700 F1 @I 9
(h) Define hypergamy.
et Karg e Fi @i 9
(1) What is flake tool?
FF Tol 00 @RI 9

(J) What is industry?
3Gl JE00 B QAT 2

Complete the following sentences: Ix5=5
feieire qrseter 7 Sl
(a) Mesolithic tool is
(i) Hand axe (i1) Triangle
(111) Harpoon (iv) None of these
(b) In the skeletal system the foramen magnum is found in
(1) Skull (i) Pelvic girdle (ii1) Femur (1v) Humerus
(c) Agriculture is discovered in
(1) Palaeolithic age (i) Mesolithic age
(iii) Iron age ~ (iv) Neolithic age
(d) “‘Antler’ is
(1) Mesolithic stone tool (i1) Palaeolithic bone tool
(i) Neolithic polished tool (iv) Upper Palaeolithic blade

(e) Burin were found in
(1) Middle Palaeolithic age (1) Upper Palaeolithic age

(ii1) Lower Palaeolithic age (iv) Iron age

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
fo their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to subinit multiple
copies of the same answer script.




